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Choose the correct answer.

Each question carries 1 Marks.

1. How many languages are there in group?

(A) 3

(B) 4

(C) 5

(D) 6

2. > this change is occurred by the rule of––

(A) Anaptyxis

(B) Prothesis

(C) Aphesis

(D) Ablaut

3. The example of Dissimilation is––

(A) > 

(B) > 

(C) > 

(D) > 

4. > in this example the change is occurred by––

(A) Prothesis

(B) Aphesis

(C) Dessimelation

(D) Cerebralisation
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5. Which language is belongs to group of the following––

(A)

(B)

(C)

(D)

6. Which one is the example of of the following––

(A) > 

(B) > 

(C) > 

(D) > 

7. What is the another name of Collitz’s Law?

(A) Law of Assimilation

(B) Law of Dissimilation

(C) Law of Cerebralisation

(D) Law of Palatalization

8. (nebhos) > (nabhas) this change is occurred by the rule of––

(A) Grimm

(B) Verner

(C) Grassmann

(D) Collitz

9. Which type of Sutra is 

(A)

(B)

(C)

(D)

10. in this Sutra  what is meant by 

(A)

(B)

(C)

(D)

'S
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11. in this example here is––

(A)

(B)

(C)

(D)

12. ____________ (Fill in the blank)

(A)

(B)

(C)

(D)

13. Choose the example of 

(A)

(B)

(C)

(D)

14. in this example here is––

(A)

(B)

(C)

(D)

15.

(A)

(B)

(C)

(D)

16. Which is in 

(A)

(B)

(C)

(D)
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17. What is the of 

(A)

(B)

(C)

(D)

18. Name the of 

(A)

(B)

(C)

(D)

19. Here is––

(A)

(B)

(C)

(D)

20. Name the by the of the following––

(A)

(B)

(C)

(D)

___________
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Paper Code : VI - B

(Marks : 80)

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Unit - I

1. Explain any two of the following sutras in Sanskrit : 5×2=10

(a)

(b)

(c)

(d)

2. Explain in Sanskrit any one of the following : 5×1=5

(i)

(ii)

3. Write an informative note in Sanskrit any one : 4×1=4

(a)

(b)

4. Account for the case-ending in Sanskrit with relevant sutras  any three of the following :

2×3=6

(i)

(ii)

(iii)

(iv)

(v)

(vi)

5. Explain any two of the following sutras  in Sanskrit : 5×2=10

(i)

(ii)

(iii)

(iv)

6. Explain any two in Sanskrit of the following extracts : 5×1=5

(a)
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(b)

7. Write short note on any one of the following : 4×1=4

(i)

(ii)

8. Explain the formation of any three of the following and name the with relevant sutras
: 2×3=6

Unit - II

9. Answer any one of the following questions : 10×1=10

(a) What is meant by phonetic Law? Discuss Grassmann’s Law with suitable illustrations.

(b) Name the ten branches of Indo-European languages and classify them into centum and

'S atam groups. Give an idea of linguistics peculiarities of any one of the ten branches.

10. Write short notes on any two of the following : 5×2=10

(i) Epenthesis.

(ii) Prothesis.

(iii) Ablaut.

(iv) Collitz’s Law.

Unit - III

11. Write short notes on any two of the following : 5×2=10

(i)

(ii)

(iii)

(iv)

___________


